























To sum up, the feature 'large number' indicates ineffectiveness of a single seller or a single buyer
in influencing the prevailing market price on its own, rendering him simply a price taker.

. The products of all the firms in the industry are homogenous

It means that the buyers treat the products of all the firms in the industry as homogenous. The
products produced by the firms are identical, or treated as identical, or perfectly standardized.
The buyers do not distinguish the output of one firm from that of the other.

The implication of this feature is that since the buyers treat the products as identical they are not
ready to pay a different price for the product of any one firm. They will pay the same price for the
products of all the firms in the industry. On the other hand, any attempt by a firm to sell its product
at a higher price will fail.

To sum up, the 'homogenous products' feature ensures a uniform price for the products of all the
firms in the industry.

. Perfect knowledge about markets for outputs and inputs.

The firms have all the knowledge about the product market and the input markets. Buyers also
have perfect knowledge about the product market.

Let us take the product market first. The implication of perfect knowledge about the product
market is that any attempt by any firms to charge a price higher than the prevailing uniform price
will fail. The buyers will not pay because they have perfect knowledge. There is no ignorance
factor operating in the market. The sellers do not charge a lower price due to ignorance. The
buyers do not pay a higher price due to ignorance. Auniform price prevails in the market.

As regards the knowledge about the input markets, the implicit assumption is that each firm has
an equal access to the technology and the inputs used in the technology. No firm has any cost
advantage. Cost structure of each firm is the same. All the firms have a uniform cost structure.

Since there is uniform price and uniform cost in case of all firms, and since profits equal cost less
price, all the firms earn uniform profits.

. Freedom to firms to enter or to leave the industry in the long run

Freedom of entry means that there are no artificial barriers and natural barriers in the way of a
new firm wishing to enter into industry. The artificial barriers may take the form of patent rights,
legal restrictions, etc. The natural barrier may take the form of huge capital expenditure required
to start a new firm, which the firm wishing to enter is not able to arrange.

Freedom of exit means no barriers in the way of a firm deciding to leave the industry. Government
rules, labour laws, loss of huge fixed capital etc. do not come in the way.

The freedom of entry and exit of firms has an important implication. This ensures that no firm can
earn above normal profits in the long run. Each firm earns just the normal profits, i.e. minimum
necessary to carry on business. In Microeconomics, normal profits is treated as an opportunity
cost, and therefore, counted in calculation of total cost. Since profit equals total revenue minus

19



total cost, normal profit means zero economic profit. Why? Let us explain.

Suppose the existing firms are earning above normal profits, i.e. positive economic profits.
Attracted by the positive profits, the new firms enter the industry. The industry's output, i.e. market
supply, goes up. The price comes down. New firms continue to enter and the price continues to
fall till economic profits are reduced to zero.

Now suppose the existing firms are incurring losses. The firms start leaving. The industry's output
starts falling, price starts going up, and all this continues till losses are wiped out. The remaining
firms in the industry then once again earn just the normal profits.

Only zero economic profit in the long run is the basic outcome of a perfectly competitive market.

Average Revenue and marginal revenue curves of a perfectly competitive firm

The forces of market supply (i.e. supply by industry) and market demand (demand by all the buyers)
determine the market price. The firm, being a price taker, adopts this price and is free to sell any
quantity it likes at this price. The price taker feature determines the shape of the firms AR and MR
curves. Refer to the figure -12b
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The figure 12a shows the intersection of demand and supply curves at E determining the price OP.
The figure 12b shows the adoption of price by the price taker firms which are free to sell any quantity,
at this price. This makes the AR curve perfectly elastic and thus parallel to the
X-axis. As per the average marginal relationship, when AR is constant, MR must be equal to AR.
Therefore, AR curve is also the MR curve of the firm.
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OLIGOPOLY
MEANING

Oligopoly is a market situation in which an industry has only a few firms (or few large firms pro-
ducing most of its output) mutually dependent for taking decisions about price and output. The two
features of this definition — few firms and interdependence between firms — are explained in a sec-
tion below.

TYPES

If in an oligopoly market, the firms produce homogeneous products, it is called perfect oligopoly.
If the firms produce differentiated products, it is called imperfect oligopoly.

If in an oligopoly market, the firms compete with each other, it is called a non-collusive, or non-
cooperative, oligopoly. If the firms cooperate with each other in determining price or output or
both, it is called collusive oligopoly, or cooperative oligopoly.

When there are only two firms producing a product, it is called duopoly. It is a special case of
oligopoly.

FEATURES

(1) Few firms

Few firms mean either only a few firms in number or a few big firms producing most of the output
of the industry. The exact number of firms is not defined. The word ‘few’ signifies that the number
of firms is manageable enough to make a guess of the likely reactions of rival by a firm.

(2) Firms are interdependent in taking price and output decisions.

When there is only a limited number of firms, it is likely that rivals have some knowledge as to
how these firms operate. It one firm does something about the price and quantity of the product it
produces, the rivals are likely to take quick note of it and react by changing their own price and
output plans. Therefore the given firm, expecting reactions from its rivals, takes into account such
possible reactions before taking any decision about the price and output of the product it pro-
duces. It makes each firm dependent on other firms in the industry.

(3) Barriers to the entry of firms.

The main reason why the number of firms is small is that there are barriers which prevent entry of
firms into industry. Patents, large capital, control over the crucial raw materials etc, prevent new
firms from entering into industry. Only those who are able to cross these barriers are able to
enter.

(4) Non-price competition

Firms try to avoid price competition for the fear of price war. They use other methods like adver-
tising, better services to customers, etc to compete with each other.
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